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class Entity public class OrderPlacedDomainEvent : IDomainEvent

lic Guid Id { get; protected set; } = Guid.NewGuid();
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Guid OrderId { get; }
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DateTime OccurredOn { get; } = DateTime.UtcNow;
- class AggregateRoot : Entity, IAggregateRoot

1ly List<IDomainEvent> _domainEvents = new();
OrderPlacedDomainEvent(Guid customerId, Guid orderId)

r0oid AddDomainEvent(IDomainEvent domainEvent) => _domainEvents.Add(domainEvent); CLI.EtUITIEI'Id — ELIStDITIEI'Id;

Voic ClearPomainEventi(IDomainEvent domainEvent) => _domainEvents.Clear(); OrderId = EI'I‘EIE'I‘IEI;

ss Customer : AggregateRoot

CustomerTests
ol IsBlocked { get; private set; ol

nt ActiveOrdersCount { get; private set; [Fact]
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\Tuémtmmrﬁwaiismmdwd,ir:adjuﬂkdeCmmt) PlaceOrder_ShouldRaise_OrderPlacedDomainEvent()

IsBlocked = isBlocked;

ActiveOrdersCount = activeOrdersCount; : e -
- customer = new Customer(isBlocked: false, activeOrdersCount: 0);

::EQHOrder PlaceOrder(decimal totalAmount)
order = customer.PlaceOrder(106m);

if (IsBlocked)
throw new InvalidOperationException("Blocked customer cannot place orders.");

ar order = new Order(Id, totalAmount, DateTime.UtcNow); var domainEvent = customer.DomainEvents.0fType<OrderPlacedDomainEvent>().FirstOrDefault();
ActiveOrdersCount++;

Assert.NotNull(domainEvent);

jar domainEvent = new OrderPlacedDomainEvent(Id, order.Id);

AddDomainEvent(domainEvent);

return order;

Assert.Equal(customer.Id, domainEvent.CustomerId);
Assert.Equal(order.Id, domainEvent.OrderlId);




